Gebrauchsanleitung Positionsgeber flir Winkelsensoren
Manual Position Markers for Rotary Sensors

novotechnik

Siedle Gruppe

Eine Abflachung an der
Schraubenauflage wird
empfohlen fur Befestigung mit
Gewindestift

A flattening is recommended
at screw pressing point for
fixation with threaded pin

Indexpunkt

;bﬁ

18

12

@8-0,02

|
w|

76t®

w

Index position

Z-RFC-P0O1/ P02/ P07/ P08/ P41/ P47 02 Z-RFC-P30/ P31 Z-RFC-P03
3
© 18 58 = 8
5 @8 | A
< —»1 Markierung
) ¥ /-T\ Marking i
s I N A N 4 —
T ,ITH [ |—|-I Nt I T
I/zea ﬁﬂ o @SS |
| t 1)
AN, =5 NG I-!-I S/ Z-RFC-PO4
P41 \ﬁ
| Cside ] 1 55 14
6002 % ) bei/ for Marking —
empfohlener Wellen-@ Z-RFC - 9'2‘22 o -I-NIs [ | I J ,,,,, I
recommended shaft-@ P07/P08: Montagehinweise A | .
M5 Installation instructions —A Montagehi . ‘
Bei / for Z-RFC-P01/-P02 Axiale Montage mit inwei Ing?aﬁggoknmzltsrﬁctions
Ausfuhrung Welle (empfohlen) 2 Schrauben M4 x 20, :\/Iontlellgghln\_/velse . . . .
Recommended shaft setup max. Drehmoment 300 Nem nstallation instructions Nicht mechanisch belasten. Einkleben
56000 g Radiale Montage mit Axiale Montage mit mit anaerob'eleIebstoff ;.B. Weicon
. § 02 E Gewindestift M5, 2 Schrauben M3 x 8, QNt3QGI-30 in ;uﬁ?tmagnepsg:hes -
s s  max. Drehmoment 120 Ncm max. Drehmoment 200 Ncm Aabe'rtla éepjpdo en, da S'C) sonst die
< ) . ) rbeitsabsténde verringern).
- i; i 3 ?xnal moumng ;\gth g’gz‘:e’cv‘;”&‘g”g i‘;"'tr:ax Avoid mechanical load. Glue in place
uerbohrun screws x 20, max. ) . i i ;
8 Befesti y tightening torque 300 Ncm tightening torque 200 Nem \with anacrobic glue e.g. Weicon
U!’ eres |ggng [¢] g torq AN 306-30, in non-magnetizable
mit Spﬁnrs?ﬁ Radial mounting with material (recommended, otherwise the
Cross hole for threaded pin M5, max. working distances will be reduced).
ﬁxat-ion V\{ith tightening torque 120 Nem — Magnet-Drehachse deckungs-
locking pin = <= gleich mit Sensor-Mittelachse
Rotation axis of magnet aligned
N with sensor center axis
o S Indexpunkt Indexpunkt Indexpunkt
\ Index position Index position Index position
Z-RFC-P23/ P43 Montagehinweise Z-RFC-P22 Montagehinweise
Ausfiih Well Schraube = Markierung Installation instructions Installation instructions
usfuhrun elle = ) .
Shaft setus Screw = marking Radiale Montage mit Axiale Montage mit
Gewindestift M4, max. - - 2 Schrauben M4 x 20,

Drehmoment 100 Ncm
(nach 5 Min. nach-
ziehen fur dauerhaft
maximale Haltekraft)

Radial mounting with
threaded pin M4, max.
tightening torque 100
Ncm (retightening after
5 min. for permanent
maximum holding force)

Markierung .~
Marking

/_‘-, o
| WP l
fai\ N
U /] 1 i
LT =
il 045

s :-‘:’NZ’{"
Indexpunkt
Index position
@30 _
20

max. Drehmoment 300 Ncm
Axial mounting with

2 screws M4 x 20, max.
tightening torque 300 Ncm

Montagehinweise / Installation
instructions

Direkte Verschraubung oder
Sicherung mit Befestigungsmutter.
Eine Verdrehsicherung des
Positionsgebers wird unbedingt
empfohlen.

Directly screwed or secured by
mounting nut.

It is absolutely recommended to
secure the position marker
against rotation.

Z-RFC-P16

~ 0,5 Magnetschutz

Markierung
Marking

Max. Drehmoment

Magnet-Drehachse deckungs-
leich mit Sensor-Mittelachse
Rotation axis of magnet aligned

with sensor center axis

Indexpunkt
Index position

/ max. tighting torque

Z-RFC-P16  Z-RFC-P18
Z-RFC-P17  Z-RFC-P19
Z-RFC-P20

M8 12 ...16 Nm 6 Nm

M10 12 ...16 Nm 10 Nm

P

e

% 2

"k__:f;,a‘l

protection of magnet

, I
I I
251

(31.4)

M10

—
]
1

64

Z-RFC-P17

~ 0.5 Magnetschutz
. protection of magnet

o
=

254
(303)

Z-RFC-P18
~ 0.2 Magnetschutz
- protection of magnet

__}_

) SW1

Z-RFC-P19
~ 0.2 Magnetschutz
. protection of magnet

I
I

/) ~Markierung
marking

M10

“Markierung
/| marking

[]

[TT]

@

/) )
marking — Marl'(‘l_erung
marking
58 2541 SW13

(30.8)

Z-RFC-P20

MI10

[32)

402517290/15

Anderungen vorbehalten / subject to change

09/2019

Seitel/page 1




Gebrauchsanleitung Positionsgeber flir Winkelsensoren
Manual Position Markers for Rotary Sensors

novotechnik

Siedle Gruppe

Arbeitsabstande (inmm) : Abstand zwischen Positionsgeber und Sensorgehéause
Working distances (in mm) : distance between position marker and sensor housing

Baureihe Schnittstelle Z-RFC-__ _
series interface P01/P07 |P30 P03 P04 P23 P31 P20 P02/P08 |P41/P47 |P43 P22 P16/P18 |P17/P19
~ ~ e - 2 2
8o ¥ @ v 88 |8 & | ¢ v
RFC-4801/4802/ . ) nal inal
4853/4854/ "=~ =——"——— ZEO9SIIE o 15 0..4 0..27 - 0..45 [0..22
4861/4862 —— —— ———
RFC-4801/4802/ _ analod red
4853/4854/ == ——="——= “"0 0915 15 0..4 0..23 - 0.4 fo..17
4861/4862 -~ ——— ——— ANA00TEC
RFC-4801/4802 “2-—"4——"——— SSI 0..14 - - - -
-2__-5__-___ Incremental
-6__-___-___ analogsingle
-2__-61_-___ CANsingle
RFC-4851/4852 2 Tle5.TTT Cansingle 0,7..22 23..5 0..27 44..920...45 [0..22
-2__-A__-___ |O-Link single
-7__-___-___ analogred.
-8 _-___-___ analogred.
RFC-4851/4852 2 T8 T canred 03...18 19..45 0..23 4..88 0.4 Jo..17
2__-66_-___ CANred.
RFC-4863/4864 -6__-___-___ analogsingle [0,7...2.2 23...5 0..27 - 0..4 0..22
RFC-4863/4864 '—— ——— ——— analogred.j55 g 19...45 0..23 - 0..35 [0...17
-8 _-___-___ analogred.
RFD-4021/4031 -6__-__ _-___ analogsingle |- 1,2...27|1...3 28...6,2 - - 09...34/6,1...109 |0...5 0..28
RFD-4021/4031 —— ———"——— @analogred. 07..23[06..26|28...62 - - 05..29(56..104 [0...45 |0..23
-8 _-___-___ analogred.
analog single
analog red.
analog red. - 03...35 - 26..7310...25 |-
RFX-6901 CAN red.
CAN red.
CAN single
CAN single 08...4 29...7710...3
analog single
RFE-3201 CAN single - 04..19 2..47 - - 0..24 |41..8910...4 0..18
CAN single
analog red.
analog red.
RFE-3201 CAN red. - 0..15 1,6...42 - - 0..2 36...84(0...35 [0...13
CAN red.
Seitlicher Versatz von Sensor und Positionsgeber erzeugt eine zusétzliche Linearitatsabweichung.
Es ist daher auf konzentrischen Einbau zu achten.
é Lateral offset of sensor and position marker causes an additional linearity error.
A concentric mounting has to be ensured.
Zusétzlicher Fehler [°] bei Radialversatz
Additional error [°] at radial displacement
Z-RFC-P02 /P04 / Z-RFC-P41/ P43/ Z-RFC-P01/ P03/ Z-RFC-P16 /P18 Z-RFC-P17 /P19 Z-RFC-P22
P08/P20/P23/P31 |P47 P07 /P30
Baureihe Schnittstelle
Series _ Interface 05mm[lmm [2mm |05mm[lmm [2mm [O,5mm[lmm [2mm |0.5mm[lmm [2mm |0,5mm[{lmm [2mm |1mm [2mm |4 mm
RFA-40__ |-6__-___-___ * analogsingle *
RFC-48__ | -2_ SPI
RFD-40__ -2_ CANsingle [04 |11 |35 fo4 |11 |35 [14 (37 |- 07 |13 (33 [13 |26 |- 08 [18 |54
RFE-32__ | -2_ CAN single
RFX-69__ ] -2_ 10-Link single
RFA-40__ | 7 * analog red. *
RFC-48__ | g ~.77"."" "+ analogred. *
RFD-40 Fr.-= = - 9 : 25 6,4 - 2,3 4,5 11 24 6,7
RFE-32 2__-62_-__ _ CAN red.
RFx-69__ | 2-—"66_-___  CANred. 07 (18 (52 [07 |18 |52 11 |2 4,6
1 analog single )
RFX-69_ _ analog red. - - - 1,1 24 6,7
analog red. - -
2. -4 - SSiI
RFC_48——}—27 5 _-___ Incremental 04 07 |22 | B B ) ) ) B B ) B ) )

* auBer RFX / except RFX

402517290/15

Anderungen vorbehalten / subject to change 09/2019

Seite 2 / page 2




